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Ideals for irreducible component#ﬂ)f Xpar

I = (u® +u’ = 3u* —u® +3u? + b+ 1, u® +u® — du* —u® +6u? + 2a, u” + 3ub — 5ut + 4u? + 2u + 2)

=0 -bu+u®> -1, v*+a—u—2 u®—u?—2u+1)

2
I =(b+1, 20 —u+2, u*>—2)

I={(a, b—-1v+1)

* 4 irreducible components of dim¢ = 0, with total 16 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u4+u®—3u*—ud+3u?>+b+1, ub +u’® — 4u* — u® + 6u® +
2a, u” + 3ub — 5u* + 4u? + 2u + 2)

(i) Arc colorings

- ()

1
as = 0
1
a6: u
az=< )
+2u
az =
%6— 5+2u+ — 3u?
ag = \ —qyf u+3u +ud 3u271
% —ut 2 P +1
ag = uﬁ—u5+3u +ud—3u? -1
%6+1u5 w4 tud et —u+ 1
a4 = w b —2ut 20+ 1
u+1
a7 = \yt—

%uﬁ—i—i —u4—%u3+1
a0 =\ +ud — 2t —uwd+u+u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u® — 8u® + 6u



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs,Cg u’ — 3u® + 5ut — 4u® +2u — 2
C2 u” + 9u® + 30u” + 45u* + 46u® + 32u® + 22u + 14
€3,C4,C8 WS —ut 3w — 1
€10
c7,C9 w +u® +8u® +3ut + 13w + 32+ 2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs,Co y" — 9y5 + 30y° — 45y + 28¢5 + 497 — 12y — 4
C2 y" —21y°% 4+ 182y° + 203y* + 304y> — 260y* — 412y — 196
03,04,68 y7_y6+8y5_3y4+13y3_3y2+2y_1
C10
cr,¢co y" 4+ 15y° + 84y + 197y +181y° + 3792 — 2y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = 1.050170 4 0.4923981
a = —1.369620 — 0.2371501

b= —0.828738 + 0.8486401

3.39904 + 5.131131

0.70211 — 5.710031

u = 1.050170 — 0.4923981
a = —1.369620 + 0.2371501
b= —0.828738 — 0.8486401

3.39904 — 5.131131

0.70211 + 5.710031

u = —1.33623
a = —0.889511
b= —0.610544

3.10278

2.54950

u = —0.122110 4 0.5843951
a= 1.254020 + 0.5297531
b= 0.441920 + 0.5381181

—0.192432 — 1.3188901

—1.84900 + 4.972001

u = —0.122110 — 0.5843951
a = 1.254020 — 0.5297531
b= 0.441920 — 0.5381187

—0.192432 4 1.3188901

—1.84900 — 4.972001

u = —1.75995 + 0.154851
a= 1.060360 — 0.3626771
b= 1.19209 4 0.989851

13.3363 — 7.93651

0.87212 + 4.073971

u = —1.75995 — 0.154851
a= 1.060360 + 0.3626771
b= 1.19209 — 0.989851

13.3363 + 7.93651

0.87212 — 4.073971




IL I =M —-butu?—1, v’ +a—u—2, ud—u?—2u+1)

(i) Arc colorings

o= (1)

1
as = 0
1
ag = _u2
u
az = \ —y2 —yu+1
—u?+1
a3 = \—u®—u+1
—u? 4+ u+2
ag = b
—u? —b+u+2
ag = b
w?b—bu—2b+1
a4 = —bu—+u?®—1
—u?+1
ar= \y?+u—1

(ii) Obstruction class = —1

(iii) Cusp Shapes =2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, Cs, Co (W +u® —2u—1)°
C2 (u? = 3u? — 4u —1)?
€3, C4,C8 w4 ud — 20 4 2u — 1
€10
c7,C9 wl +uwd +4ut + 100 + 8u? +4u+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,Cq (y® — 5y% + 6y — 1)*
€2 (y° —17y* + 10y — 1)
C3,C4,Cg y6_y5+4y4_10y3+8y2_4y+1
€10
c7,Co Yo + TyS + 12yt — 4247 — 8y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to IY vV—1(vol +/—1CS) Cusp shape
u = —1.24698
a = —0.801938 3.05488 2.00000
b = —0.623490 + 0.4076991
u = —1.24698
a = —0.801938 3.05488 2.00000
b= —0.623490 — 0.4076991
u = 0.445042
a= 224698 —2.58490 2.00000
b= 1.14526
u = 0.445042
a= 224698 —2.58490 2.00000
b= —0.700221
u= 1.80194
a= 0.554958 14.3344 2.00000
b= 10.90097 4+ 1.198011
u= 1.80194
a= 0.554958 14.3344 2.00000
b= 10.90097 — 1.198011




I I¥ = (b+ 1, 2a — u + 2, u? — 2)

(i) Arc colorings

o= (1)

w= ()
e (1)
o= ()
e (%)
. (j“_; )
. (;’i)
o= (%)
= (0)

1
Eu
aio = \u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,Cs5 U2 —9
Ce
C3,C7,C8 (U— 1)2
Cy
1)2
€4, €10 (u+1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cs5 (y_2)2
Ce
C3,C4,C7 (y_ 1)2
Cs, C9, C10
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(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape
u= 141421
a = —0.292893 1.64493 —4.00000
b = —1.00000
u = —1.41421
a=—1.70711 1.64493 —4.00000
b = —1.00000
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IV.I1? =(a, b—1, v+ 1)

w=(0)
o= (
=
=
o= ()
=

<

(

(

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
C1,C2,Cs "
Ce
cs3,Cs u+1
C4,C7,C9 u—1
C10
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cs5 Yy
Ce
C3,C4,C7 y— 1
Cs, C9, C10
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0 —3.28987 —12.0000
b= 1.00000
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V. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs5,C6 u(u? — 2)(u® +u? — 2u — 1)*(u” — 3u® + 5u — 4u? 4 2u — 2)
o u(u? — 2)(u® — 3u? — 4u —1)?

(u” 4 9u® 4 300 + 45u* + 461> 4 32u® + 22u + 14)

3, Cs (=D u+ 1)l +u®+-+2u— D +ub 4 +u?—1)

¢4, C10 (u—1)(u+1)*Ws +u®+ - 20— 1) (" +u + - u®—1)

(u—1)3(u® + u® + 4u* + 10u® + 8u? + 4u + 1)
(u” + b 4 8u® + 3ut + 13u® + 3u? + 2u + 1)

C7,C9
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VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
1. 506 y(y —2)*(y* — 5y* + 6y — 1)°
(y" — 9y°® + 30y° — 45yt 4 28y 4 4y* — 12y — 4)
e y(y —2)*(y° — 17y* + 10y — 1)°
(y" — 215 + 182¢° + 203y* + 304y® — 260y — 412y — 196)
€3,C4,C8 (y — 12 (4% — o° + 4y* — 109> + 8y* — 4y + 1)
c10 (YT =yt +8y° =3yt +13y7 -3y + 2y — 1)
cr. o (y— 1)2(y° + 79° + 12y* — 42 —8y> + 1)

(y" 4 15y° 4 849° 4+ 197y* + 181y° + 37y% — 2y — 1)
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